Name:

Short MultipliCation- Multiple of 10: Missing number

40 50 60 40
X X X X

200 200 240 80

30 10 80 30
X X % X

60 80 560 120

70 80 40 90
X X X X

280 640 160 270

Working mathematically

1) 350 children need to be transported to the oval for the athletics
carnival. Each bus is licenced to carry 50 children. 8 DODDO
How many buses need to be booked? 5 :

(©
2) The hardware shop sells nails in boxes of 90. We have
estimated that we need 450 nails to complete our construction. W

How many boxes will we need to buy?

3) Floor tiles come in boxes of 40. We have estimated that we need no more

than 320 tiles to cover our living room.

How many boxes do we need to buy?

4) We need to supply each child in a grade of 60 with exercise books. If we
have 480 books , how many does each child get?

5) A lift can transport 20 people at a time. How many full loads will it
need to make to transport 180 people?
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